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Paper 3

QUESTION 1
a)
LO = 100cm / 1m
 

d1  = 0.26mm,  d2  = 0.26mm;[image: image6.emf];
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b)
i)
VR = 2.1 volts;






Va = 2.41 volts;
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ii)
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iii)






 

	Distance l(cm)
	0
	2
	10
	20
	30
	40
	50
	70

	P.d. V across RV
	 2.1
	1.6 
	1.3
	1.0
	0.8
	0.7
	0.5
	0.4


 d)

e)
ii)
l1 = 15cm = 0.15m;
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QUESTION 2  

Question 2

	U(cm)
	40
	45
	50

	V(cm)
	39
	35
	32

	Magnification [image: image2.png]


 
	0.98
	0.78
	0.64


F= [image: image4.png]mel




F1 =  39          =  19.6

       0.98 + 1

F2 =  395         =  19.7

       1.78

F3 =  32          =  19.5

       1.64

F avg = 19.6 + 19.7 + 19.5    = 19.6cm


3

Favg = 19.6

[image: image5.png]PARTB.

You are provided with the following:

- rubber bung.
- vernier calipers.
- beam balance.
Proceed as follows:
a) Using a vemier caliper, measure the lengths D, d, and h as shown in figure 2. \A‘\r"\)\l

- D »i

b) (i) Measure the mass, M of the rubber bung using the beam balance. N
4—/ i ’/w{lf
= it e ke OC 1{7%,3 é‘~/)(tma:k)mmﬂ
- D YR (o s 0>r AANT ﬁ\rz\ TMOVIA
(n) Given that ®\— [d * D) determine the value of T5_ 7/ (1 mark)

a= e
L

i

(iii) Determine the value of r given that m’&: LY /A \ (1 mark)
b Yy
A
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SECTION C
a) G = 50  ± 0.5cm

b) p = 58.6cm

c)when y =5cm, x = 8.6 cm

W x 5 = 50/100 x 8.6

W = 0.05x8.6/5 = 0.086N 
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